Intermediate Algebra Skill
Simplifying Rational Expressions

Simplify each expression.

0 a’-3a-4 2 6n+ 15
a’-13a+36 21n + 24
2p®+15p + 18 4 5a” + 16a + 12
2p® +3p-54 2a’*+3a-2
18p* + 12p? - 96p 6 18x° + 81x? + 63x
30p® + 72p® + 24p 63x° + 9x* — 54x

7 6k + 4k? — 80k 8 63 + 40b — 7b?
21k3 + 63k? — 84k 7b?> - 50b + 7

3_131n2_3n+ 3 _ 24

9) 3n°-3n“-3n+3 10) 14v° - 136v- + 90v

2n° -9on+7 14v? - 138v + 108



Answersto Simplifying Rational Expressions

1) a+l 2) 2n+5 3) 2p+3 2) 5a+6
a-9 n+8 2p-9 2a-1

5) (3p+8)(p-2) 6 2x + 7 7 2(3k - 10) 8 (9+7b) -1
(5p+2)(p+2) 7x-6 21(k - 1) 7h-1

9 3(n+1)(n-1) 10) v(7v - 5)

n—7 V-6



